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PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

17th July 2016, 12:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Study the following figure carefully and answer the question. The triangle represents
doctors. The circle represents players and the rectangle represents artists. / Fafafea
NG PT AT A AT B MR | Ul BT o1a19 &1 Frapior siaexl o g=ifar 81 g0 Ryenfsal < exifar 8
3R AT FATHR] B g=ITar 2l

30 3

How many players are neither artists nor doctors? AL TR f@?l‘l@ﬁ I PATPRR % MR Bl Sider
G

° 4

°* 3

* 22

e None of these /S7H ¥ ®I5 gl
Correct Answer :-None of these /'&""-I'ﬁ J H’ﬁi Tal
2)

Question Stimulus :-

P is equal to or not shorter than Q. N is as tall as P. M is taller than or equa!I to N. Then
which of the following is certainly correct? / P, Q & THM 3(Ydl IHA BIeT A8 8| N Id-T & a1
g R fd Pl M, N 9 7T 91 39S 1R g1 @ A9 & @ &9 a1 +y= [ § 9@ 82

(x) M is taller than P / M, P ¥ @%T g|

(y) Nisequal to or tallerthan Q / N, Q & 9= HWW@W%

® x alone /Wx


Admin
Stamp


® yalone / Had Y

e bothxandy /GHIxTdy

® neither x nory/xTd yH | IS a8l
Correct Answer :-y alone / $dd y

3)
Question Stimulus :-

Who was the first speaker of the Lok Sabha? / AT & q?ﬁ I B Y2
* K.S. Hegde/%@%"l@j
® Hukam Singh / §hH Rig
® M. A. Ayyangar / TH T 3[R
® Ganesh Mavlankar / TTOIRT ATTAH

Correct Answer :-Ganesh Mavlankar / TTOIRI ATd@®Y

4)
Question Stimulus :-

In India, the monetary policy is controlled by ./ HRd o Aifgs ifa _gT it foar sran %I
® Finance Minister / fa= w3t
® Union Government / $% TIXPIY
® Reserve Bank of India / HIRdTY f¥oid 8
® TFinance Ministry / IEEREIGD]
Correct Answer :-Reserve Bank of India / HIRd g f¥ed o
5)

Question Stimulus :-

Who was the first governor general of free India? / Tdd HRd F UYH TGRSR P A?
® J.ord William Bentinck / Fﬁ% fachom s<fe
e Lord Canning / @Ts &=



® Lord Mount Batten /?I"I% AN&T ded

® Lord Dalhousie / dls Wﬁﬁﬁ

Correct Answer :-Lord Mount Batten / @IS HISC Cho|

6)
Question Stimulus :-

Three friends want to hire a taxi for a trip. The taxi owner provides them with following

three options: / @9 R4 T a1 & T ver il frve R &1 9184 &1 R wifere 3= FRufafaa
IH fareq ueH FRar 8:

A. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for Rs. 500 per day. / A. 34 ﬁT-IT;'I':-'ﬁTa?

TR fHE R & Id &1 ST - ufafds 2500 Fug ghMI ggar gusl Todl A 3T Ahar § IHDT dad
500 Ut yfafe grml

B. You can hire the taxi with driver from the first agency. This would cost you Rs. 2800 per
day. But driver will have to be provided relief fund of Rs.250 per day if total distance
traveled exceeds 1500 KM. / B. 3T Ugell ToiRil A S15aR & 1Y TR & IHd 811 ITHT 2800 Ufd
a1 $ud o1 T 3w AfP gIEaR &1 uld &7 250 & Az BV <A1 TR, S o g BT AT BT 1500
fradier ¥ aiftre gRft

C. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for 50 paise per KM. / C. 3lU ﬁT-ITS'IsTﬂ'a?

¢l fFuT W @ I d €1 IUPT v ufafes 2500 T gh1T1 AR gEst TOil | 31 Johdl § ST dad
50 T3 ufa fraiiier gl

If they had planned to travel total of 6000kms in 5 days. Which option would have been

%?;ter?/u%%maﬁsﬁﬁﬁeoooﬁﬁﬁﬂaaﬂﬁwmﬁaﬂthw , @ B9 A1 faped AR
?

e A

e B

e C

e Either AorC/A TT c &I oft
Correct Answer :-B
7)
Question Stimulus :-

Following are three views of a cube. Which of the following options is opposite to the face shown at the right? / Tt

3R W ATpfa H g9 Ft T F1 F T wies forar simar 8, 9 1 fawen & ¥ 919 3 fawwu ¥ waw
ot 3R femr T wae & faudia @2



]

S5l

Correct Answer :-

8)
Question Stimulus :-

In which district is the Acchnakamar sanctuary located? / forg o & sAMeUR rvarRvg fRG %?

e Morena / g1

® Ratlam / IddTH

e Annuppur / TUQR

® Rewa/ Sl
Correct Answer :-Annuppur / 3FUQR
9)

Question Stimulus :-

Sihoniya, known for “"Kakan Math” Shiva temple is located in which district of Madhya

Pradesh? / “&154 #o" R19 #fey & fore S 91 aren Rigifaan, 9w vewr & fy e & R« 82

° Morena/'ﬂazn
e Gwalior / qIferaR



* Shivpuri / Rragd
® Sheopur/ 'ﬂﬁ'ﬂ?

Correct Answer :-Morena / GRAT

10)
Question Stimulus :-

Who won Silver Medal in Wrestling in London Olympics 2012?/ g 3fidfuaq 2012 # 3&d
o fHa- Sitar UT?

® Yogeshwar Datt/ TR g
® Gagan Narang/ TATH TR

® Saina Nehwal/ 9QIg-l Agard
® Sushil Kumar/ ﬁ'«’ﬂﬁ PHR

Correct Answer :-Sushil Kumar/ 3 $HAR
11)

Question Stimulus :-

The Ramakrishna Mission was founded by / JTHP T = frads g wfua fasar war ot
® Swami Vivekananda / it ﬁam
® Ramakrishna Paramahamsa / JTHH W[ AT
® Sarada Devi / YRl a’fﬂ
® Mahendranath Gupta /'FI%E:IT‘!I RIS

Correct Answer :-Swami Vivekananda / ST fad®™g

12)
Question Stimulus :-

There are two words making the base pair. Find the similar pair of words from the

following / G Vg 3MYR T F1T R 8| 9 & A 0 sl o1 g4 91 FIc
Paisa : Rupee :: / T : =0T ::

® Kilogram : Quintal / fearumy : fPea



® Meter : Centimeter / Hrew : Adfier

® Coin: Money / g : 4=

e Weight:Ton / HR : T
Correct Answer :-Kilogram : Quintal / fearmm : féea
13)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe

g siab s R AR R W FsyT & U= 8 -

It is not true that both Ram and Shyam are champions. / 98 I 78l g & 391 TW 3R wW
farar 21

e Ram is a champion or Shyam is a champion. / 3TH U% fasidr 8 a1 TamH U fasidar g1

® Ram is not a champion or Shyam is a champion. /mwﬁﬁmqﬁ%mmwﬁﬁm

gl
e Ram is a champion and Shyam is a champion. / 3T T& fasidr g 3R waTH ue faeiar 8

e None of the above / IWRIad PIs gl

Correct Answer :-Ram is a champion or Shyam is a champion. / I T faoiar 8 a1 =z
Tw faear 21

14)
Question Stimulus :-

When was the Preamble to the India Constitution last amended? /‘1-|'|Tcﬂ'q TRIY™ 31 URATaaT A M) IR S Ty
forar T 4

® 2013
® 1976
® 1982
® 1991

Correct Answer :-1976

15)

Question Stimulus :-



Select the option, which is the logical equivalent of the statement given below: / dg fawe

gRe,siab F1 B AR R W FyT & qu= 8 -

It is not true that both Latha and Geetha love coffee / I8 U g} ¢ & I @dT 3R fiar &1 HIHY
Wig §

e Latha loves coffee or Geetha loves coffee / &dl &I Bt UG ¢ IT MdT &I BB WG &
¢ Latha loves coffee and Geetha loves coffee / @dl I HIB! WG g 3R T B! BB YHS &

¢ Latha hates coffee and Geetha loves coffee / @dT ! B4l ATGRIG & 3R 1T B! BB g
g

e Latha loves coffee and Geetha hates coffee / @dT &I BIB! TS g 3R 7TdT Bl HIBI ATIHS

g

Correct Answer :-Latha loves coffee or Geetha loves coffee / @dl &I HIB! TRig & T Ml
® PP qES

16)

Question Stimulus :-

Rabindranath Tagore got the Nobel Prize for Literature, for his work . / XS5 ATY MR H Naa YRYPR e
T, 39 »1d & ferdi

® Gitanjali / Tdaioifer
® Rabindra Sangeet / g Tfta
® Gora/TRI

® Ghare- Bhaire / Yﬁ'—‘ﬂ%

Correct Answer :-Gitanjali / Tidicifer

17)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 8 fd®e gfg
i 3T U HuY vd Frspul & aR § 9 R

Statements: / PY-:
All lions are animals / I TR 9FaR
All tigers are animals / it sy \‘:I'Hil'\’%

Conclusions: / faemd:



I. All tigers are lions / I. 9 99 I} &

II. Some animals are not tigers / II. $& WHax aT9 781 &
® Only conclusion I follows / *Had fsed 1 fAeadar %
® Only conclusion Il foIIows/W frrspd 1| faar %
® Both conclusion land Il foIIows/aT'ﬁ frspy 1 3R 11 fArpad %
* None of the conclusion I or II follows / pd I a1 11 § A H13 ¢} FApadr @

Correct Answer :-None of the conclusion I or II follows / fAepd I a1 11 A & #1578 Apadr

g

18)
Question Stimulus :-

Which city was the capital of the Vijayanagara kingdom? / cack: | e} fasra TR arsa &t ISyt BT P YT?
® Mysore / ﬁ'\‘I{
® Tanjore / GEIN
® Hampi/ Fuﬁ'
® Belur / éqv

Correct Answer :-Hampi / &1

19)
Question Stimulus :-

According to 2011 census, which of the following states ranks the last in overall literacy rate? / 2011 P SFIUET &

ITER, Fafafed ol & ¥ S a1 gu9 JeRd X § 99 fiosrgana?

Rajasthan / TSIRRYT

Uttar Pradesh / 3xIR U%QT

Bihar / ﬁ?ﬂ'

e Madhya Pradesh / H%0 Ue=I

Correct Answer :-Bihar / f[98R

20)



Question Stimulus :-

Who was the first woman Chief Minister of Independent India? / ¥ HRd &1 YW Afga gEr=it &1 4>
® Jayalalitha / STAQ@TerdT

® Padmaja Naidu / USISIT ATAE

® Sucheta Kriplani / gddT $UaT-t

® Vijaya Lakshmi Pandit / faora @edt diga
Correct Answer :-Sucheta Kriplani / Jadl $Uar-it
21)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 9 Uy &, ugd o ugl & div W yoR A FIE oy 8| A7 A & F it ug g
a1 TR 1e & 91y I PR &7 &Y 3|

LJH : KKI :: CIA: ?

® BJB

® BBB

* DBB

® (CBZ
Correct Answer :-BJB
22)

Question Stimulus :-

is celebrated in India on 21%¢ of April every year. / HRd H gvad 3d Bt 21 TG B HATIT
oI B

® Civil Services Day / fifda Jar feaw
® Good Governance Day / R faaw
® Army Day / 9T fada9

® Teachers Day / e feaw

Correct Answer :-Civil Services Day / fifa@ dar fdaq



23)
Question Stimulus :-

A sales representative plans to visit each of six companies M, N, P, Q, R and S exactly once
during the course of one day. She is setting up her schedule for the day according to the

following conditions: / T® faghar ufafaf¥r 3 gisi=T 9911 &1 98 M,N,P,Q,R 3R S T: Hufydl # 83 U&
Hu-1 A &9 & fparfaf & ve IR SR S ST @9 &1 wrbww 9 fean A <6l & SR

1. She must visit M before N. / 1. 38 N ¥ Uga M ¥ fia=r =nfawl

2. She must visit N before Q. / 2. @Q'@%ﬁ N '\Qﬁlﬂ:ﬁﬂﬂ%‘t{l

3. The third company she visits must be P. / 3. IR} %u-1 forgw ag wirdt 8 P 811 =nfgul

If the sale representative visits S first, which company must she visit second? / 3R fasear

wfafAf ugat s & o 8, o 1 @ Hu § a7 gEd IR TRE?

°Q
Correct Answer :-M
24)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe ?ﬁnz
it fou T Sy Td frseuf & aR A 98 2

Statements: / PYH:

All shampoos are soaps. / d 33'1'\‘11@:[ gl

Some shampoos are not oils. / $9 3311?!?[ T8l g
Conclusions: / fwpd:

I. All oils are soaps. / I. It da qigq %'I

I1. All soaps are oils / II. 94t GG a9 g1
® Only conclusion I follows / Fad frewt I fAPadr &
® Only conclusion Il follows / Pad fassd 11 T g



e Both conclusion I and Il follows / I} fred I 3R II frped €
* None of the conclusion I or II follows / =Y 1 T II # A Hﬁ'sﬁ 5l Apaar g

Correct Answer :-None of the conclusion I or II follows / fsesd 1 a1 11 § A $I5 T8 APdaar

g

25)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fove
g, ab Fl R AR R wFyT F 0 2 -

It is not true that both horses and zebras have stripes. / 98 I 8l ¢ & Q91 918 R AT &
it gt g1

. %s%fes have stripes and Zebras have stripes. /T8I & Y1f¥ai gidl € ok Sa=1 & wfai
|

* Horses have stripes or zebras have stripes. /‘Elﬁ_ﬁ'% urfea gidt %'TIT SeRT & urfeai gidt
gl

e Horses and Zebras do not have stripes. / TSI 3R SIaRT 41 & urfyat 7Y gidt &1
e None of the above / IWRIad PIS gl

Correct Answer :-Horses have stripes or zebras have stripes. / 91! & Y1f¥ai gidl & a1
S’ & i gt g

26)

Question Stimulus :-

The largest road bridge of Madhya Pradesh is located across the river. / ST USRI ] Gad a@ﬁ qsd Jd

TSP wRfRE@
 Narmada / THgl
® Tawa/ddl
® Chambal / ddd
e Tapti / G|
Correct Answer :-Tawa/ddl

27)

Question Stimulus :-



In the following numbers sequence, how many such even numbers are there which are
exactly divisible by its immediate preceding number but not exactly divisible by its

immediate following number? / Faffad @ s/ A, fFait Wi T=w 8 < fiapa s9&
dpTd Ydadi @ @ fAursy 8, afe s9d aopa il sen @ agpa fursa 78 82

38415728348939421582

e One / TP

e Two / ﬁ

* Three / diF

* Four /dR
Correct Answer :-Two / &
28)

Question Stimulus :-

If cream cracker means computer programming, and it’s programming, then it’s cream

cracker. / Gfe HH HHI BT ATAd HIER WITFH 3, 3R Tg WATRAT ], 99 I8 HIH HI< g
* True / I8!
e False / Tdd
e Maybe / gl gddr %
® Irrelevant / YT S
Correct Answer :-Maybe / 8 I&dl &
29)

Question Stimulus :-

Who among the following Chief Justices of India was born in Madhya Pradesh? / HRd ¥ frafofaa ReRC

grrefi=y § & S19 7eg wew # Uer gu A2
® TS Thakur / ¢ T 3T
* HLDattu / U9 Td qY
® JS Verma / o T qHi
* Altamas Kabir / ed¥qd HaR

Correct Answer :-J S Verma / & T gHf



30)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faww i[ﬁ'q
ot feu T Syl vd eyt & IR & I 71

Statements: / ®Y-:

All games are movies / 94l @7 fbeH €
All movies are bags / 9 fihed 7 &
Conclusions: / fAswd:

I. All games are bags / I. 9 @d a7 &

II. All bags are games / II. gt 9 @ %

® Only conclusion I follows / Had fased 1 fAeadar %

® Only conclusion II foIIows/aﬁ?[ forspd 1 fraar %

® Both conclusion | and Il foIIows/aT'ﬁ freed 1 Gﬁ? II fAoed %

* None of the conclusion I or II follows / s I 1 11 § A H13 ¢} FApaar @
Correct Answer :-Only conclusion | follows / Fad ey 1 Headar %

31)

Question Stimulus :-

The highest peak in western Ghats is / ufnft gre § ot RRR 8:

® Annaimudi / 3F|'|'{ﬂ:‘ﬂ

® Mahendragiri / q%aﬁlﬁ

® Saddle peak / Jsd uda

® Blue mountain / ﬂ'ﬁﬁ%q
Correct Answer :-Annaimudi / 3ATSYS!
32)

Question Stimulus :-

In the following diagram, the circle represents college professor, the triangle stands for
surgical specialist and medical specialists are represented by the rectangle. / 5L Glﬂo'ﬁ



H, g Piae & MBER HI WRgd DRl 3, FAdivr axiiar 8 xfafeaes ARy R smifasm ”ifvsre sma
BRI U f5d 1

College professors who are also surgical specialists are represented by / P BlAS &

WATP! AR TffFae fdus o yegd $ear 3
e A
e B
e C
D
Correct Answer :-D

33)
Question Stimulus :-

The Quwwat-ul-Islam Mosque is to the north-east of which monument? / Padd-SA-FHIH 'Fl'%l_(." 59 WIR® &
IWR-7d # 32

® Victoria Memorial / faaafar amfyaa
® Taj Mahal / dTSl Hgd
® Humayun’s Tomb / E'FITQ:?T[ HbH AT
® Qutb Minar / W’Fﬂ:ﬂ?
Correct Answer :-Qutb Minar / $IHIAR

34)

Question Stimulus :-



Find out the pair which is different from the other in the following question. / -5 g #

9% QT T o/ &t qIfpal I e g
e Black and white / &Idl 3R m
e Inand out / 3icR 3T TR
e Weapons and arms / ¥ 3R @R
e High and low / &dT 3R sHar
Correct Answer :-Weapons and arms / % 3R g3@R

35)

Question Stimulus :-

Kailash Satyarthi found a child — friendly movement in 2015 that gives free education and protects children from
exclusion and exploitation. What is this movement called? / S gt & Udh I faer - 2015 ° U
AP g ot =l B : 3o e a1 3 Td TR TUT MW7 A IS I8 HRaT 31 59 gl Hi
T ST oIl 87

® Bachpan Bachao Andolan / ddU- gasn G'I'IE'-']FF'T
® Bachpan Saksharta Protsahan / SU- HI&RdI Tﬁ?\qﬁq
® Bachpan Shiksha Abhiyan / U e sftrm

® Bachpan Anurakshan Seva / U 3{IX&UT Jar

Correct Answer :-Bachpan Bachao Andolan / S99 T GI'IE-']?F-I

36)
Question Stimulus :-
I. There is a group of five persons A, B, C, D & E. / 1. UTg suf&mal A,B,C,D 3R E &1 TH 9Yg g

II. One of them a horticulturist, one is a physicist, one is a journalist, one is an industrialist
and one is an advocate. / II. 398 9 T ITH ARy 8, T& Wifds Il 8, T ToR §, TF
IINTUf B SR TP I 2|

III. Three of them A, C and Advocate prefer tea to coffee and two of them B and the

journalist prefer coffee to tea. / III. 98 ¥ dF, A,C 3R THId HIHI & Il ITY GRS P § M
3, B 3R UIPR 9 & TSI HIB] UHE HId &l

IV. The industrialist, D and A are friends of one another but two of these prefer coffee to

tea. / IV. ITNTUR, D 3R A TH g & A7 § WY 598 A &l I & G99 HIB! Wig Hd ¢
V. The horticulturist is C’s brother. / V. 329 fAQug ¢ &1 4TS 21

Which of the following groups includes a person who likes tea but not an advocate? / fad



¥ P I I4g U 98 U fad ¢ o 910 Ui 3 W 98 a&1d -8l 82
* DE
* BD
* CE
* AD
Correct Answer :-AD

37)
Question Stimulus :-

Which river is called the “Ganga of Madhya Pradesh”? / {63 T} 1 "Heq YS=T HY T HgT SIaT 82

® Narmada/ T'IﬁET
® Chambal / Idd
® Betwa/dadl
® Tapti / ATl
Correct Answer :-Betwa / Sqdl

38)

Question Stimulus :-

The Lokpal and Lokayuktas Act received the assent of the President in ./ BT 3R aﬁmgaa siftfraa
Cal # ryufa ¥ geafa ura g3 A

* 2014

® 2013

® 2015

* 2012

Correct Answer :-2014

39)
Question Stimulus :-

X+Y means X is the daughter of Y, X-Y means X is the husband of Y, XxXY means X is the



brother of Y. / X+Y BTHAAG 8 X, Y P19 8, X-Y FTHAAT & X, Y BT UM &, XXY BT HAAT & X, Y

BT TS 2

If AxB+C, which of the following is true? /'Clﬁ AxB+C %, a ﬁ'&ﬁﬁaﬁqmw%?
® Aijsthe brotherof C/ A, CHI 'H'Ig%
® Aisthe daughterof C/A, C CAKC | %
* Aisthesonof C/ A, C &1 dcT 3
° AisthefatherofC/A,CiFfﬁl?lT %
Correct Answer :-A isthe son of C/ A, C &1 92T @
40)

Question Stimulus :-

How many times the vowels precede the consonants in the word ‘RETROGRESSION’? /

‘RETROGRESSION’ 3% # fopa-il 91X W@R o+l & qd ¥ §?

e 4
Correct Answer :-4

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

1

4
2 meter of cloth required to stitch a skirt. For how many skirts can be stitched with 105
3 1 3
bt p b
4 mofcloth? / Te W I fRITA d w2 dAsusTa@ar ] 105 4 #Ht #ug A fFa-l we Rkt
S gl 82
e 87
o 47

e 37



o 27
Correct Answer :-47
2)

Question Stimulus :-
A train covers a distance of 880 km at a constant speed. If its speed would be 15 km / hr more, then it would have taken 6
hours less ot cover the same distance. What is the original speed of the train?/ Tdh a':l UhHHT Tfa A Ierd BUY 880 fet
Bt g8 99 Bl 31 Al TP A 15 [Hei/der & 9g T, o IS 3t g8 F 77 A & 1Y 6 ¢ F A ¢
$ IRafd® Tfd 132

e 40 km/hr/ 40 fopeft/der

e 55km / hr/ 55 fopei/eer

* 60 km / hr/ 60 foreft/eieT

® 50 km / hr/ 50 fopeft/eieT
Correct Answer :-40 km/hr/ 40 T /ger
3)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁlﬁ &R AP ST P T a%’ﬁ%nz ta_cd_cda_dab_

abc
® cdbb
® bbcd
® bcdb
® bcdd

Correct Answer :-bbcd

4)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? /ﬁ'H GI'ITRT &I g911 & ford
gAqH T=IT A feadt @ Y@ #t smazasar gt



5

o 7

* 6

e 8
Correct Answer :-6
5)

Question Stimulus :-

The price of the petrol is increases by 25%. By how much percent a car owner must
reduce his consumption in order to maintain the same budget?/ ﬁ@ﬁ P FHT H 25% Eﬁﬂ'ﬂ
g3 | I goic &1 91U 7EH & T FR & wifere &) fFaq ufawa 9@ @ua ger! Tfide?

® 20%

® 25%

® 30%

® 15%
Correct Answer :-20%
6)
Question Stimulus :-

In a certain code language SOLID is coded TPMJE as then in that language
METALLIC is coded as: / &3 GiefamTd  SOLID & TPMIE 3 difed f5ar &ar @
1 39 HTIT # METALLIC &1 B0 Sifed fear smam

® NFUBMMID



® NFUBMMIJB
® NFUCNNJD
® NFUBNNJD
Correct Answer :-NFUBMMIJD
7)
Question Stimulus :-

In the sequence shown below, which figure comes next? / -d @ T w9 & ATl 3P
®I At gril?

Cee o8l
o0 e L lele
00O L 1 1

o) 1 J
eCe®
000
L 1 1
oe®

®
&
O

alel
slel
L1 1

0QQ
200
*e e

Correct Answer :-

8)
Question Stimulus :-

Three persons formed a company by investing Rs.6000, Rs.8000 and Rs.5500
respectively. If they got Rs.1950 as profit, then what is the profit share of the

2nd person? / o ARl A HH: $.6000, $.8000 3R ¥.5500 W IH TP HU
R AR STDI 3. 1950 F A gt A 2 aAafm & U &1 U fra-r 82



1100

e 900

« 800

e 600
Correct Answer :-800
9)

Question Stimulus :-

In a certain code language, bart il arn means thrills and frills, hed mik ain
means diamonds are forever, ad ket hed means hard as diamonds, lim arn kelt
means rock music thrills, ket kelt Iim means hard rock music. Which is the word
for frills in that code language? / {3 @RI ®Is YT |, bart il arn &1 HAAd @ thrills
and frills, hed mik ain &1 Hddd % diamonds are forever, ad ket hed &1 Hddd %
hard as diamonds, lim arn kelt &1 Hddd % rock music thrills, ket kelt lim &1 Hddd
® hard rock music | 38 ®1s YT ¥ frills & T «1 25 B2

® bart

°

® arn

® Dartor il
Correct Answer :-bart or il
10)

Question Stimulus :-

In the foIIowing q}.lestipn, one term in the number series is wrong. Find out the wrong
term. / A9 Uy #, 9T 4@ A TP US A 8| TAd UG FId B

2,3,5,7,9,11,13,17
e 11
e 13
9
e 7

Correct Answer :-9



11)
Question Stimulus :-

If the code for PRACTICE is QSBDUJDF then what will be the code for CONTACT? / Tf¢ PRACTICE & ford 1S QsBDUIDF &

df cONTACT & ford &1 Pis gRI?
e BDODPUV
® DPOBDUV
® PDOBUDD
® DPOUBDU
Correct Answer :-DPOUBDU
12)

Question Stimulus :-

The series given below contains a s‘equence_of_al.phab‘ets and numbers. Identify the
incorrect combination: / R &t 7§ saaT &Rl Td WS HT AHH WART Hal 3| Tad Hao
ugdI-a|

(i) HS8PSAHSCSD
(ii) HSSPASHSCSD
(iii) HS8PASHSCSD
(iv) HS8PASHSCSD

Correct Answer :-i

13)
Question Stimulus :-

Complete the series choosing the missing number: / fAgW JWIT gAHT 4G@T St [T IO :



6,13,28,59,
e 120
e 121
e 118
e 122
Correct Answer :-122
14)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁ'ﬁlﬁ' &R gAPY Sl P T aﬂﬁm taa_bcc_a_bcc_
abbc _

® babac

® bbaac

® baabc

® bbacc
Correct Answer :-babac
15)

Question Stimulus :-

A box contains 4 green, 5 blue and 4 red balls. One ball is drawn at random. What is the probability that it is either green or
red? /T® & | 4 B, 5 BTAT 3R 4 T ¢ A &1 TP Tig B ARG &1 A fFrepran siar 8, FT UG % 98
s T aiAe g2

® 9/13
® 7/13
® 8/13
® 1/13
Correct Answer :-8/13

16)

Question Stimulus :-



A and B can together finish a work in 30 days. They worked together for 20 days and then B left. After another 15
days, A finished the remaining work. In how many days A alone can finish the job? / A 3 B M &I 30 fa1 &

T B THd &1 A 20 R 9% T F8 Hd € 3R b2 B F0 Sis a1 81 3Tt 15 3 F uayrq, A a1t
B B T B AT 31 A 3pa fbaq AN & w10 &) g1 +% Jbar 82

* 40 days / 40 fo

e 30days / 30 fe

e 35days / 35 fed

e 45 days / 45 fe
Correct Answer :-45 days / 45 fe

17)

Question Stimulus :-

A bag contains 8 white, 5 black and 4 blue balls. One ball is drawn randomly, what is the probability that it is neither white

nor blue ball? / T &7 & 8 G, 5 BT 30X 4 el 7 WA &1 TP g P fAfdad 1 A Feren sar e, |
AHGTR fP g A A abhg g IRA R A T F e @2

* 5/17

* 8/17

* 4/17

* 6/17
Correct Answer :-5/17
18)

Question Stimulus :-

In a certain code language, bart il arn means thrills and frills, hed mik ain
means diamonds are forever, ad ket hed means hard as diamonds, lim arn kelt
means rock music thrills, ket kelt Iim means hard rock music. Which is the word
for diamonds in that code language? / f&sfl @ ®Is YT A, bart il arn &1 HdAd &
thrills and frills, hed mik ain T Hddd % diamonds are forever, ad ket hed &1
Hddd % hard as diamonds, lim arn kelt &1 Hddd % rock music thrills, ket kelt Iim
pI Hddd % hard rock music | Il BIs UTUT A diamonds & fore w1 W %?

® Jhed
® mik

® ain



® Jied or ain

Correct Answer :-hed

19)
Question Stimulus :-

A car costs Rs. 60,000 when it is new, after one year its value goes down to Rs. 40,000.By
how much percent has its value decreased? / Tdh R old ar i g dd 60,000 IUY B %I Th a¥
¥ §1¢ 3UP! BIUd 40,000 FUA i Teft W1t 81 39 PR & Yo © foban wfawra fRmae ong 82

1
e 43 3

°

U

W
Lid

[ ]
N
W
Lad | =

Ld | =

Correct Answer :-33

20)
Question Stimulus :-

14/7)x16-(15x2)+(48/3)5=?
e 62
e 72
e 82
e 92
Correct Answer :-82

21)
Question Stimulus :-

How many different six letter words can be formed using the letters of the word ‘PENCIL if repetition is not allowed? / 'Clﬁ

TRIEfa A T8l 8, 99 ‘PENCIL RTeg & 3&RT BT TANT P T8 &R & fra-t fafira sreg a1 I 72



e 700
e 720
e 740
e 760
Correct Answer :-720

22)
Question Stimulus :-
The length of a rectangle increased by 20% and its breadth decreased by 20%. What is the change in its area?/ 3ITdd
o 9aTg § 20% P! T FI T3 SR AISTE PI 20% HH B f§a1 W11 IS &A% # fpa=n uRad=
gaIT?

® Increase by 4%/ 4% del

® Decrease by 4%/ 4% YcI

® No change / aﬁs‘ uf¥ad= qﬁ

® None of the above/ G'Clﬁﬁ = | aﬁé =r€r

Correct Answer :-Decrease by 4%/ 4% HYcl

23)

Question Stimulus :-

A7B06 x 156 = SB977A6

Where A & B are representing different numerals; find the value of ‘A’? / A7B06 x 156 = 5B977A6 STl A 3T B fafta
@I §; a9 ‘A HT UH AP

5
e 4
3

e 6
Correct Answer :-3

24)

Question Stimulus :-



Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A% 28 70 9 udl & ¥ =9 22 1 vd F i I F9 A1 TF T8 82

Beauty Mountain Whitewater Trippers, Inc.
General Delivery
Edmond, West Virginia 25837

(304) 574-0211

(i) Beauty Mountain Whitewater Trippers, Inc.
General Delivery
Edmond, West Virginia 25837

(304) 574-0211

(ii) Beauty Mountain Whitewater Trippers, Inc.
General Delivery
Edmond, West Virginia 25837

(304) 574-0211

(iii) Beauty Mountain Whitewater Trippers, Inc.
General Delivery
Edmond, West Virginia 25837

(304) 574-0211

(iv) Beauty Mountain Whitewater Trippers, Inc.
General Deliver
Edmond, West Virginia 25837

(304) 574-0211



e jv
Correct Answer :-iv

25)

Question Stimulus :-

3% 1 3 3% 1 _ 3
IR A L
find x. / X JTd Pifore
13
. 4
14
[ ]
;
« B
e None of these / 394 ¥ ®Is gl
14

Correct Answer :- 2

26)
Question Stimulus :-
A man’s average monthly savings is Rs 750 during May, Rs 825 during June and Rs 775
during July. Find the average monthly savings for the three months? / T& 3eH! &1 43 A
T # 3iId §9d 750 ¥ B, I A 825 ¥ R AR A 775 T 7 | @1 7l & forw v 9% siva w4
fFreifere?

o 788

e 790

o 783

e 780

Correct Answer :-783

27)



Question Stimulus :-

A dealer marks his goods at 35% above the cost price & allows a discount of 20% on the
marked price.Find his gain or loss percent? / Td faghar = HIE HY ARG qa ¥ 35% HW fafea
HT ¢ 3R 39 fUfgd qea 0 20% @1 Fe <aT ¢ 1 ST ATH AT g UfA=Td BT gar S|

° 8%

°* 7%

* 6%

* 5%
Correct Answer :-5%
28)

Question Stimulus :-

In a flight of 600 km an aircraft was slowed down due to bad weather. Its average speed was reduced by 200 km/hr and the
time of flight increased by 30 minutes. The duration of the flight is;/ 600 fet @t 3SH A U fawm &Y vfa @R W
P PRUT HH B <l T ITAP! 3 7 200 fHl/Her HH F1 S @ Fafe ITH &1 99T 30 fFe a9 9¢ S
HESERGUEE ISR EE R

® 1hr/1Y°eT

® 2hrs/26¢

® 3hrs/3WC

® 4hrs/4HC
Correct Answer :-1hr/ 1 92T
29)

Question Stimulus :-

In a certain code language, bart il arn means thrills and frills, hed mik ain
means diamonds are forever, ad ket hed means hard as diamonds, lim arn kelt
means rock music thrills, ket kelt Iim means hard rock music. Which is the word
for rock in that code language? / f&ft W HIs UMW A, bart il arn &1 HAAd © thrills
and frills, hed mik ain &1 Hddd % diamonds are forever, ad ket hed &1 Hddd %
hard as diamonds, lim arn kelt &1 Hddd % rock music thrills, ket kelt lim &1 Hddd
€ hard rock music | 33 B YT & rock & oY RIT T 82

® [kelt

® [im



® kelt or lim

® Neither kelt nor lim
Correct Answer :-kelt or lim
30)
Question Stimulus :-
Complete the series choosing the missing number: / AW JWIT FAHR 4TaT Bl [T DI
1,3,5,11,21,

e 43

e 42

* 44

e 41
Correct Answer :-43

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-
If sin A = 1/2, then sin®2A = / Gf sin A = 1/2, 99 sin’2A =
° 112

* 1/4

o 3/4
V32

Correct Answer :-3/4

2)
Question Stimulus :-

A customer purchased a laptop bag with a price tag of Rs. 2000 in a sale where 30%
discount was being offered on the tag price. The customer was given a further discount of
10%. The final amount paid by the customer was: / T® Ulgd 2000 =UT I F T 9 Th
AUeiy A B1 U Jd H TWedT @ 98l &1 Tou R 30% Pt e Uwnad &1 o W A1 I8 &1 10%



JAfaRed Pe UM I 9l g1 I8P §RT YA St Tt Sifaw iy i
® Rs.1500
® Rs. 1625
® Rs. 1260
® Rs. 1400

Correct Answer :-Rs. 1260

3)
Question Stimulus :-

In case of a fire accident in a cracker manufacturing factory which number would you dial to call the Fire and

Rescuementoputouttheﬁre?/tlE'IETﬁ'ﬁl’ﬁl'f'l'ﬂH?I?E'Iﬁ'l-:\f3-Iﬁf§'EfET'ITGg’f@lﬁfﬁ3-ITCI3-Iﬁ«f'\'£‘;l$\*ﬁ'\r
919 G613 g3 & gaH & A $I9 971 TR 31 wean

e 100
e 101
e 102
e 103
Correct Answer :-101
4)
Question Stimulus :-
Ifx:y=2:1,then )@ —y2): (P +y?)is: /A x:y=2:1, a9 (®-y?): (x* +y?) &
® 1:3
e 5:3
e 3:1
e 3:5
Correct Answer :-5: 3

5)

Question Stimulus :-



Marbles kept in water look enlarged because water acts as a / it # ¥ AT 98T ﬁ'@é a1 %, i
U 59 9 § B1d Hear @

® Concave lens / 3add a9

® Convex lens / 3I9d o

® Magnifying lens / mad® A

* BothB & C / B Td C G-l
Correct Answer :-Both B & C / B Td C Gl
6)
Question Stimulus :-

Which pigment gives red colour to blood?/aﬁ_-l T quies Yo | &1 397 a?IT %?

* Serum globulin / HRH Wﬁ_@gﬁf"‘f
* Serum albumin / A W&F‘l
® Haemoglobin /'tﬁ'lﬂ'l?ﬁﬁq

® Plasma protein / WITSTHT me=

Correct Answer :-Haemoglobin VA G IRGIIEE]

7)
Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the number of votes given to the
four players in each of the cities. Answer the following questions using the information
provided. / IR g3 # TP Fd&ur riford farar mar forad ufavnfray &) e # 949y fvde aard & forg
dic H &1 HeT a1l i aifereT Tde R A IR fafal @t Ry v 9l @t wen e 31 sudasy
HRS TS THPR BT IUURT B 77 g3 F W S|



Delhi
Mumbai Kolkata/ Chennai

Player / @=m=t == A= FiARETT e

=

Sachin/ #/a= 125 225 7h 100
Rahul / wg=r 100 175 125 175
Virendra/die=g 250 125 100 75
Mahendra/ sréa 25 75 200 50

If one of the voters from Delhi is randomly selected, what are the chances that he voted for Mahendra as the best player? /
gfe ol A uer Hag@r &1 HHRR &1 | AT oa1 3, TT UG 2 fF a8 wes & forv gday f[/ast & wu
# g ol 82

® 6.25%

® 75%

® 10%

® 125%
Correct Answer :-12.5%
8)
Question Stimulus :-

Conventionally, the charge acquired by glass when rubbed with silk is considered to be/ S1d PId B IIW & Y
TIST ST qF HId GIRT SAfold A Fibfad &9 F AT AT

® positive / YATHD

® negative / BUNHD

® neutral / Ga'ﬁﬂq

® either positive or negative / Ul I YATHS AT BUTHSD

Correct Answer :-positive / YATHD

9)

Question Stimulus :-



In AABGC, if LA = 90°, which is the largest side? / AABC ¥, af3 LA = 900 & Ha& T3t Yol B
0 22

® BC

® AB

® AC

® CA
Correct Answer :-BC
10)

Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the humber of votes given to the
four players in each of the cities. Answer the following questions using the information

provided. / IR g3 # U Hd&ur maifora farar mar foraw ufawnfral & ¢or # 949y fhde faas & fau
dic B B Bl 1411 Y aifereT yde weR ¥ IR Aafsal #1 e e aiel ) s fRardt 81 Suasy
PRIS TS THBR BT ITANT B 7 Ui & I S

Delhi
Mumbai Kolkata! Chennai

Player / /==t e g FAGET  [fOeAs

=

Sachin/ #fa= 125 225 75 100
Rahul / Tger 100 175 125 175
Virendra/a== 250 125 100 75
Mahendra/ =& 25 75 200 50

If one of the voters from all the four cities is randomly selected, what are the chances that he had voted for Rahul as the
best player? Tf¢ Tt TR WERT A TH Hagmal B HHRIRd &1 & TAT AIAT 8, T WUIGAT 3 % a8 vga & forw
T49y fAeSt & ¥u A HagH Har 82

® 5%
® 6.25%
® 875%

® 10%



Correct Answer :-5%

11)
Question Stimulus :-

x 20, y20 and x + y =1 graphically represents a ./ xZ20,y2Z0and x +y =1

gfRifa wu & g8 qufar @
® atriangle in the first quadrant / Ugd Elﬁ?-lf‘\"[ H Th Bt

® atriangle in the second quadrant / Qﬂ% ﬂﬁﬂf‘ﬂ i Udh Bt
® arectangle in the first quadrant / Wﬁ T:Fg'ﬁl'f!ZT | TP 3Tad
® arectangle in the second quadrant / Q‘\‘ﬁ' ﬂ'g'?leZT | TP 31ad

Correct Answer :-atriangle in the first quadrant / tl?ﬁ il'g[?lf-‘ZT i Udh [ECaw

12)
Question Stimulus :-

Which of the following statements is true? /ﬁ"}f 7 Cac| Gl dYd 9 %?
® Two congruent figures are always similar. / é’f aiTaH GI'ITI%ITIT H%H JHSY @?ﬁ %'I
® Two similar figures are always congruent. / Eﬁ gHE=Y GHTﬁI'*ff ?ﬁﬁ’ ot Eﬁ?ﬂ %'I
® Any two equivalent triangles are congruent. / ?ﬁ's: 3 qHwE (FHd) ﬁ'{-ﬁl FatTaq G| %'I
® Two isosceles triangles are always similar. / a '\‘Tﬂﬁﬂ'@ ﬁ‘;ﬁf Hed GUEY B ¢

Correct Answer :-Two congruent figures are always similar. / a FatmaH GﬂTﬁRﬁ '\‘ﬁa JHEY @?ﬁ %'I

13)
Question Stimulus :-

Which of the following is NOT a reason for preferring Chromium for electroplating objects such as car parts, bicycle

handle bars, kitchen stoves and bathroom fittings? /Py &t el o R & HI, m‘{% %3?[ DS, M'é
el Ud WIER firfén & fagaa duq & adtgar &1 &1 & @ o019 31 $rur 981 @2

® Chromium has a shiny appearance /ﬁﬁrcrq Bl Y JHDHGIRR %

® Chromium does not corrode /ﬂﬁﬁl’qﬁ | TR T'Iﬁ ﬁ?ﬂ

® Chromium resists scratches/ﬁ”ﬂﬁl’qﬁ RIS P bl %

® Chromium is a cheap metal compared to iron /aﬁﬁnm ?ﬁ% 3l LR o 9wt urq %



Correct Answer :-Chromium is a cheap metal compared to iron /ﬁﬁr!m Fﬁ% 3| qda-n H it CIG %’

14)
Question Stimulus :-

The distance-time graph for an object, moving with a constant speed will be a / RR nfa § afewm= Uph d¥q &

fore gft-gwg wrw gnm -
® Curved line / qp ¥l
® Straight line / R ¥@l
® Line parallel to X axis / X 3{& & JHTHTGR 3@l
® Line parallel to Y axis / Y 3{& & GUIGR 3@l
Correct Answer :-Straight line / G 3@T
15)

Question Stimulus :-

Raj picks up a three digit number and subtracts it from the same number after reversing
order of the digits. If the difference is divided by 9, then the remainder is
/ ST T I 3] P WS B dT 8 UG 3Pl S HH Bl Shfid HI P dIg, S W& § e g1 afe
3R P 9 | fawfora far wig, a9 Ay gl

e 2

° 0

e 3
Correct Answer :-0

16)
Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the number of votes given to the
four players in each of the cities. Answer the following questions using the information
provided. / IR e # TP Jdeur maiford fasar war oA ufavnfral &1 3z # a9y fede Raast & fore
dic A P HgT 11l 9 TIRreT TS e | IR RAaenfeal «1 Ry v e 1 Jen Rard 31 Suas
HS TS TG BT IUUNT HR 7 usf F IR 3



Delhi
Mumbai Kolkata! Chennai

Player | /==t Ie== == FAFET A

Sachin/ wfa= 125 225 75 100
Rahul / 5= 100 175 125 175
Virendra/are=s 250 125 100 75
Mahendra/ #iém 25 75 200 50

If one of the voters from all the four cities is randomly selected, what are the chances that he either “belongs to Mumbai
and voted for Mahendra” or “belongs to Chennai and voted for Virendra”? / 'qﬁ' T-['l-ﬁ IR ﬂ?ﬁ @ Tdh Hdgldl 3|
PRI &1 T AT S1dT 8, T GHIGT § [P a8 "Hag & siaifa 3mar § 3R 394 weg & fore wagH forar
"I9S & Ifdifd IaT g 3R IWH IR F forw Id9y /St F wu # HagH fFur?

® 875%

® 75%

® 6.25%

® 5%
Correct Answer :-7.5%
17)
Question Stimulus :-

Identify the CORRECT statement about cyclones: / dshdld FARHA wé’r HYF B qﬁTﬁl’E :

® High speed winds circulate around a high pressure region / 3™ qId aﬁ' & U I Tfe saT&
ufvarfea gidt &

® The coastline of India is not vulnerable to cyclones / HIRd & dYx dc debdld * ﬁﬂﬂ T-Iﬁ %I

® The wind direction is clockwise in southern hemisphere and anticlockwise in northern hemisphere / E‘ﬁ;‘l'uﬁ

Mend # arg &) fezm gféomad gidt 8 ik S mand & arg Y fe=m amwmad gt 31
® The wind direction is clockwise in both hemispheres / dIg | ﬁ'ﬂT aT-ﬁ Traref & af&runa?f Eﬂ?ﬁ %’I

Correct Answer :-The wind direction is clockwise in southern hemisphere and anticlockwise in northern

hemispherelafz‘l'uﬁTﬁwﬁfﬁa@ﬂ%mmﬁ?ﬂ%éﬁ?mmﬁﬁwaammﬁ%l

18)



Question Stimulus :-

If the area of a square is 256 m2, find the perimeter of this square. /afe U T PT SAEA 256 Hie? %, at 39 Tt
T URHATY JTd ST

* 16m/16 WX

e 2m/12HR

* 64 m /64 R

e 32m/R2WR
Correct Answer :-64 m / 64 Hiex
19)

Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the number of votes given to the
four players in each of the cities. Anhswer the following questions using the information

provided. / IR g3 # TP Fa&ur miford farar man forad ufavnfray &) ¢ & 949y fbde faard & forg
dic ®A B FeT Tl Y afereT yvde weR A IR fFarfsy #) fir v ael #) e fard g1 Suaw
PIE TS TSR BT ITANT $ A9 4 F W

Delhi
Mumbai Kolkata/ Chennai

Player / @=m=t == A= FiARETT s

=

Sachin/ s 125 225 75 100
Rahul / 1= 100 175 125 175
Virendra/di== 250 125 100 75
Mahendra/ == 25 75 200 50

What percentage of all the voters voted for Mahendra as the best player? / 'FI%§ & ﬁl’[{ '\‘Iﬁa'g m FEUH HdglH
& ara It gagransit &1 wfawa | 82

® 175%
® 195%
® 22%

® 24%



Correct Answer :-17.5%

20)
Question Stimulus :-

The branches of the tall trees look like a roof over the other plants /Fia a?i | LUEEIY i) §'\‘ﬁ' el R Bd Bt
Hifa fe@rs ot & 9 givht

* Crown of the tree / TS &I qPpc

® Canopy of the tree / a?; @t faar

® Under storey of trees / ﬂg & faa & =
® Shoot system / TRIE Womer!

Correct Answer :-Canopy of the tree / Ug & faar-it

21)
Question Stimulus :-

Find the perimeter of the sector of angle 60° of a circle of radius 21 m. /21 ficx a1 &
gd | 600 PV & TdeR BT URHATT JTd Biforg|

e 22m/ 22X

e 11m/11HI®

* 44am/asHi®

* 44/3m/aa/3HIR
Correct Answer :-22m /22 Hiex
22)
Question Stimulus :-

Pure water can be made to conduct electricity by dissolving / & ST¢l i qg e ﬁg’q_d BT FdaTd HRardr
T AHdT 8

® Vegetable oil / gwfd dd
® Honey / Rgq
® Common salt / HTYIRUT <dU0T

® Sugar / Gk



Correct Answer :-Common salt / ITHYIRUT TqUT

23)

Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the number of votes given to the
four players in each of the cities. Answer the following questions using the information
provided. / IR g3 # TP Hd&ur smaifora frar mar forgd ufawnfral & ¢or A 9d9y fhde faas & fau
dic B34 b1 Hel T Y afereT T eY @ IR faafeal # 2 7u gl 91 sen i 81 Sudsy
HRS T3 THPR BT IUURT B 77 g3 F IW S|

Delhi
Mumbai Kolkata! Chennai

Player / /==t = faas FrAFET  [Oes

=

Sachin/ wfam 125 225 75 100
Rahul / Tger 100 175 125 175
Virendra/dies 250 125 100 75
Mahendra/ =& 25 75 200 50

If one of the voters from all the four cities is randomly selected, what are the chances that he “belongs to either Delhi or
Kolkata” and “had voted for Sachin as the best player”? / gfe gt IR Q'IB?.T 3 U Hdqldl Cal W%T‘l T A T
ST 8, 991 UG @ T a8 "feweh a1 Slaear & siaifa omar 8" 3R 394 “Ifeq & forw wd9y At &
U # AagH fFar?

® 75%

® 85%

® 10%

® 115%

Correct Answer :-10%

24)

Question Stimulus :-

Slides in the park is polished smooth so that / T Bt W’Ig??f &1 ¥ urferar frar SiTan % arfe
® Friction is increased / aﬁmﬁq@a‘r
® Friction is reduced / 94U & $H! gl



® |t can look attractive / T 3TPpY® ﬁ@

® Friction is eliminated totally / bLLY| @ GEE) 3 x® 'bpf Y

Correct Answer :-Friction is reduced / 94U & &4} gl

25)

Question Stimulus :-

Why are pickles stored in plastic containers or glass bottles and not in Aluminium containers? / AR Bt
wWifeed & UTH 91 Hig $t MR A i G fpar wrar 8 ok vegefttran & urs § 98 fwar srare

® Because when placed in glass & plastic containers we can see what is inside. /a:fﬁ'ﬁ; g &g 3R

TTREP Ul H 3ERI ) IW@T SITdT ¢ df 89 IUP 3<eY oW Jhd ¢l

® Plastic & glass containers are light and easy to handle. / WIRe® 3R &I & U Eﬁ? 3.1% % 3R FHTA
# 3T B B

® Plastic & glass containers can be recycled after use. | |Te® 3R HiT & Ul BT YT & 916 GEED
far <1 w@ar g1

® Because Aluminium metal reacts chemically with the acid present in pickles. / P AR # IulRAUT

3T & ATY TegH I~y u1g Imafae sifufssar st 31

Correct Answer :-Because Aluminium metal reacts chemically with the acid present in pickles. / Fife

AR H IufRyT 3 & 1y TegHifaw erg Imafe sifferar -t 21

26)
Question Stimulus :-

Self Pollination refers to the / ¥IUIITUT 3@ It Hear %

®* Transfer of pollen from anther to ovary of other flowers / WRRT &I WRA-HI A 3 qm‘r
& SR | g

® Transfer of pollen from anther to stigma of the same flower / 34 Bdd & AT FT WA-HI I ﬁ'g
# argfmor

® Transfer of pollen from anther to ovule of different flower / W Bd & WA FT WA-HI F dolis
# srgfeo

® Transfer of female gametes from anther to stigma of same flower / ! ffie 1 wAT-siwr F 3@ oA
& giaeig # ergfmon

Correct Answer :-Transfer of pollen from anther to stigma of the same flower / 34t od & WRET &7

WA-HI F Tfaag § srgfeson



27)

Question Stimulus :-

Yl _fp_ =
Find the sum of roots and product of roots for the quadratic equation “* ~-* 4=0 / feama

whgRer 2% —57—4=0 % Ry i 1 9 IR qEt BT UH AR

[
[ =]

Correct Answer :-

28)

Question Stimulus :-

Moss and ferns reproduce by / ®TS 3R JUIT JAR=cdTied Bid &
* Budding / HaT |
® Fragmentation /ﬁ@'UC"FT J
e Spore formation / §TSIT] fafoT &
® Cuttings / Ha- 9
Correct Answer :-Spore formation / SteiTy] forafor &
29)

Question Stimulus :-

During heavy exercise, the muscle cramps is due to the accumulation of / TR eramg & aTIT'T, U=t 'Q_d_"l'

IS G999 S SR B &
® Alcohol / Qﬁﬁ?\fﬁ
® Carbon dioxide / P S'IE'GI}I'H'\‘IEG'



® Lactic acid and carbon di oxide / dfde® 3t 3R B asaﬁaﬂﬁg
® Lactic acid only / Pad dAfded

Correct Answer :-Lactic acid only / Pad dAfded

30)

Question Stimulus :-

The S.I. unit of Pressure is / GId 3l Wﬁﬂg 3'751% % :
® Newton / <gcHd

° Kg/m3

® Pascal / U d

® Joule / Sd

Correct Answer :-Pascal / UI¥hd
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